
New seats today…

You may sit where you wish



Trigonometric Integration

We will use trigonometric identities to make 

integrals into substitution problems.

sin2𝑥 + cos2𝑥 = 1

tan2𝑥 + 1 = sec2𝑥

1 + cot2𝑥 = csc2𝑥

cos2𝑥 =
1

2
1 + cos 2𝑥

sin2𝑥 =
1

2
1 − cos 2𝑥

න tan 𝑥 𝑑𝑥 = ln sec 𝑥 + 𝑐

නsec 𝑥 𝑑𝑥 = ln sec 𝑥 + tan 𝑥 + 𝑐



Ex. නsin3 𝑥 cos2 𝑥 𝑑𝑥



Ex. නsin7 𝑥 cos5 𝑥 𝑑𝑥



Ex. නsin2 𝑥 cos2 𝑥 𝑑𝑥



Ex. 

There is a guide for sin 𝑥 and cos 𝑥 on p. 555-556

න
cos3 𝑥

sin 𝑥
𝑑𝑥



Ex. නsec4 𝑥 tan3 𝑥 𝑑𝑥



Ex. 

There is a guide for tan 𝑥 and sec 𝑥 on p. 557

න
sec 𝑥

tan2 𝑥
𝑑𝑥



Ex. න𝑥 cos2 𝑥 𝑑𝑥



Pract.

1. 

2.

නcos5 𝑥 𝑑𝑥

න sec4 𝑥 tan4 𝑥 𝑑𝑥

sin 𝑥 −
2

3
sin3 𝑥 +

1

5
sin5 𝑥 + 𝑐

1

5
tan5 𝑥 +

1

7
tan7 𝑥 + 𝑐
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